EARAROBEEIERT — 2 N— IBISH —F

2019558218 (K) ABISH#A1H

KMl > RC2 14 52— \ [X2) W \ (sl — | 4 (5) 14000 RE

[A~&E£] 1 7% :200,000 W ~ 23&:46,000  ~ 37#&:20,000 W  43&:14,0008 5 & :10,000 M

B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N 1R Al :30. -4-4- . — RER (%)
1155|7177 —=72X IR 3] 1(3_0)0 | B4 1 ffg ) 1
R:Z27)—>kb—0— B:AHyYTLT P Tie]
5 o EHERE :31. ~6-6- . - BB/ (1)
olglg|Vaviuray SR S 1(361)3 6666 | 1 N (‘?27) NEm
R:Gr—3IUT7> B:ES -2 FRESS
_ . TR . _q_3_ _ BRTRA (5H#3)
3177|714 77=7354 b T4 50 1(’33/]4>5 AR R ! ?_Eg EmER
R:Z2v—hOE> B:x3YFF EANILBS S
¢ o4 | BREE 1:31.7 8-8-7-7 [39.1| — 2 475 | BEREER (SH2)
4 Wl 6 INT IR F 56.0 (a 1/2) (-3) FEET g
R:TF4 =427 B:bL/ KT B Ete]
S 3 o4 | EE 1:31.8 5-5-5-5 |40.3| — 6 404 | BAIRA (5H2)
] 4 PR A A53.0 (1/2) © ") R-zA7
LT RYA Y L—> B:¥V3—-Ta—-Va> TEHHS
_ . KIRET :32. -1-2- . - KBEK (5H3)
6111 F—SLh—> 4 4 i 1(342)6 1-1-2-2 | 41.7 3 (3_922) ity A
LT RIA Y L—> BHyHAT 11 45
N N KEFH : -0-1- - REERELT (S54R)
7B 2| v =T EX IR 1('13/22')7 S ° (4_241) il
LY B4 FITUR HFAYREy K
< . EEEh : —7-8- — REERSLT (S5HR)
N R it 4 Eas 1.(333).3 7-7-8-8 | 40.9 8 <4+315) it A
:A-T>7Y> B:IHYEHLTF— ERFEKS
® I —F—@EBIERL
13=zr= 1,(2,7),5,4,8,3,6
Aol=5r= 1,2,7,5,4,8,3,6
G§a=7r= 2,1,7,5,4,8,6,3
43—+ — 5,(1,2),7,4,8,6,3
[ RN
B OB 5 1204 714K 5-8 190H B E 5-8 420M &R 5-7-8 4,200
8 B 5 110M =1/ 1,130 B H 5-8 490 JEH 5-8-7 7,860
8 160 7-8 3,160/
7 700M

ABICOVWTRDTEEERROODE. TR LIV,




